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G A2 A FHL
1) Y& sdudBd g Ale]7} £2 Holt
=gk e A E FEHAE
A 18 o4t 1 120 2.3 2.3
WE 78x 9 2 337 6.4 6.4
RHEo|t} 3 1,602 30.2 30.2
thx a9} 4 1,933 36.5 36.5
)¢~ 78} 5 1,279 24.1 24.1
A FAFE Sl 6 15 .3 .3
T 9 11 2 2
5,297 100.0 100.0
a102  StplMAYIo] HH|2: W 1912 E0i=1 0I10p)] & = US
T10. ‘A gd’ sw AL g AEdU. [B7]]oA JIHEE S8 5
G £AZE A FA L
2) Ue g dA97 U 19 gdojga oJopr] & 5 i
=gk e A E FEHAE
A 18 o4t 1 583 11.0 11.0
HE 78x 9t 2 1,295 24.5 24.5
RHEo|t} 3 1,695 32.0 32.0
= AR 4 1,007 19.0 19.0
)¢~ 78} 5 659 12.4 12.4
AFAted A2 6 36 7 7
T 9 22 4 4
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a11 Atnl g 018
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H]—"] 9}\1,}0‘_)
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2 7 2 1,133 21.4 32.8
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6 -t 6 13 2 A4
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& 99 11 2 .3
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15 A1z 15 163 3.1 4.7
16 A1z 16 74 1.4 2.1
17 A3} 17 53 1.0 15
18 A1zt 18 60 1.1 1.7
19 Az} 19 23 A 7
20 A7 20 80 15 2.3
21 A7 21 39 7 1.1
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